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Finding Relative Value with Powers of Ten

Name:

Solve each problem. Answer asa decimal (if necessary).

1)

2)

3)

4)

5)

6)

7)

8)

9)

7x108%is

3x10°is

6% 10°is

8x10%is

8x 10’ is

4x108%is

7x108%is

3x10%is

2x10°is

x the value of 3 x 10°

x the value of 6 x 10°

x the value of 2 x 10°

x the value of 3 x 10°

x the value of 2 x 10°

x the value of 3 x 10°

x the value of 9 x 10°

x the value of 9 x 10”

x the value of 8 x 10"

Answers
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ﬂh Finding Relative Value with Powers of Ten Name:. Answer Key

Solve each problem. Answer asa decimal (if necessary). Answers
1) 7x10%is x the value of 3 x 10°
8 8 1. 0.2333
7x 10 7 10 7 _1 B
o= X T o= X 100 = 2333x10
3x10 3 1 3 » 0.000005
2) 3x10%is x the value of 6 x 10° 3 0.3
3x10° 3 100 1 o
6x108 6 o 2 1070 4 2,667,000
3) 6x10%is x the value of 2 x 10° S 400
6 x 10° 6 10° 3
— o = —x — = ——x 10" = 3x10" 6. 1,333
2x 10 2 10 1
7 77,800
4) 8x10%is x the value of 3 x 10°
8 x 10° 8 10° 8 3.330
— = = % 10° = 2667 x10° 8 :
3x10 3 10 3
9 2.5
5) 8x 10’ is x the value of 2 x 10°
8 x 10’ 8 10 4 , ,
— o = X o = . % 10° = 4x10
2 x 10 2 10 1
6) 4><108is ><thevalueof3><105
4% 10° 4 10° 4 . .
—— = Tox T o= T.x 10° = 1333x10
3x10 3 10 3
7) 7x10%is x the value of 9 x 10°
7x10° 7 10° 7 : :
T % ToX T 5= ToX 100 = 0778x10
9x 10 9 10 9
8) 3x10%is x the value of 9 x 10”
3 x 10° 3 10° 1 . .,
— = Tox T, = —.x 10" = 0333x10
9 x 10 9 10 3
9) 2><105is ><thevalueof8><104
2 x 10° 2 10° 1 . .
T o X T L = T,x 100 = 025x10
8x 10 8 10 4
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